5309 230A O')>(AG) Rear Tire(AG)

RH HamES EITLER B% &% < |E E R E &
1
3
NO. PART NO. PART NAME Q'ty | DESCRIPTION |R/P| FROM ~ UP TO SERIAL NO. REMARKS
1 5313 2301 000 |24 ¥AssyR TIRE 1 |16%7.00-8
1-1 5313 2302 000 |K1—)LAssy WHEEL ASSY 1
1-2 5304 2301 100 [44¥ TIRE 1 |16%7.00-8 2PR
1-3 4201 2543 000 |F1—7 TUBE 1 |16%7.00-8
1-4 A110 0108 016 |#F'JLb BOLT 6 |M8*16
1-5 H301 0108 001 |S}yb NUT 6 |M8
2 5313 2306 000 |74 ¥AssyL TIRE 1 |16%7.00-8
2-1 5313 2302 000 |H1—IlAssy WHEEL ASSY 1
2-2 5304 2301 100 [44¥ TIRE 1 |16%7.00-8 2PR
2-3 4201 2543 000 |F1—7" TUBE 1 |16%7.00-8
2-4 A110 0108 016 |#F'JLb BOLT 6 |M8*16
2-5 H301 0108 001 |S}yb NUT 6 |M8
3 F114 0112 025 |2ARA BOLT 8 [M12%25
CMX1402 2015/March




